Product Life Cycle – Worksheet 3
KitKat Case Study
KitKat is the best-selling confectionery bar produced by Nestlé. After being officially launched in 1937, this product remained in the maturity stage of the product life cycle for many years, competing with other big sellers such as Cadbury’s Dairy Milk. By the late 1990s KitKat was still one of the top-selling confectionery bars in the UK, but sales had started to drop. Nestlé had to face the fact that it was moving towards the end of the maturity stage and into decline. 

Consumers, it appeared, no longer found the traditional two- and four-fingered KitKat bars quite so appealing. As a result, Nestlé began to consider additional forms of KitKat as extension strategies to boost sales.  KitKat Chunky was launched in 1999, targeted at the 12–20 age market. Sales and market share increased and KitKat Chunky became popular in its own right, alongside the traditional KitKat bars. 
Additional extension strategies have been used by KitKat to continue to strengthen the brand both in the UK and abroad. In the UK, different-flavoured versions have been made, including white chocolate, orange, mint, vanilla, strawberry, lime, yoghurt, lemon and caramel. The latest offering is the KitKat Editions range – including Tiramisu and caramel-flavoured fillings. In other countries, KitKat flavours have included green tea and melon.

	1 What do you think has helped KitKat to remain as Nestlé’s top selling confectionery bar?

2 How can the product life cycle be used to help a business plan?

3 What are the possible weaknesses of using a model like the product life cycle for Nestle? 


